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Note: Four possible answers A, B, C and D to each question are given. The choice which you think
is correct, fill that circle in front of that qucstlon with Marker or Pen ink in the answer book.

Cutting or filling two or more circels will result in zero mark in that question.
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'When marginal utility is negative then total utility: ubkf nd’ubf({»’ -1
1 Increases : < tbak (B) ' . Decreases .g.t'L;::‘f (A)
| Becomes Negative :..blu’d’ (D) Does not change z_t'ru'U’i (©)
| 2SIt b/ Bz RIS e 2
‘Which thing should be added in net national product to get gross national product
} Indirect taxes wu’g (B) Direct taxcs Ee iz (A)
|
Subsidies Ll (D) Derpreciation allowances /:JJ' »’/ ©

‘i,\ good thing in private finance is: Lruuﬁzg:_,m(f -3
! Expenditure and equal to income trfl/L(Z,]J.-ldn (A)

{
} Expenditure are more than income trutzc,d,s I b/u] (B)

BohAandB A and B U (D) Income is more than expenditure trulzc.i’,,/"b dxl ©)
Phases of trade cy cle are: W L.mlulé/g d}b’..f -4
Five &L (D) Four Jb (C) Three ¢ (B) Two 5 (A)

Ol mﬁwﬂ!,&dw&w& -5

The goods on which law of demand does not apply, are called
Goods and services =l L/' (B) - Services =ls (A)|

| Capital goods ..,L/;L/i (D) ’ _ Giffin goods ,E/"'tu’f ©)|
f YLJLJI/L.J(J/L-G.L}MJ g)rk/gf"/ﬁuic'_u/ -6

Wha! performs the functions of moncy is money" this definition of money is stated by:

Prof. Marshall J’/L/"u (B) Prof. Walker fl,/",/ (A)
- Prof. Pigou :g-/.:'s/ (D) Prof. Crowther /:l//",/ (©)
Durmg inflation increase take place in: Ltn;bIUIJ”LULVp Rl
Savings JSU (B) Exports Sz (A)
fjﬂuality of income uf;,l;Lf(ﬁJu::.,«l (D) Consumption i (©)
‘ES“PPI_V of perishable goods is: , ’%Jﬂfd&?'dbi.xél;&vljk 8
; More elastic ,u.gup' (B) Less elastic ,s,,g( (A)
— Perfectly inelastic z')ﬁ/! (D) Perfectly elastic ,l&?,,&;a (€)
Number of factors of production is: :‘f—"“"‘"&f’{;cféh ;
. Four st (D) Three £ (C) Two »(B) One i (A)
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Who dld say that economics is science of matcrial
.Robbins 4, (D) Ricardo 15§, (C)
One of the following is not included in net national product:

Capital goods ,_L;IJ,_.,L .~ (B) " Consumer goods
Consumer and Capital goods :!}IJZ_L/J»V‘I&/ (D)

wi "nrc' lul/’d..(f?‘ﬁﬁﬁbll'd:bc:b-b. _;;'
farshall 74 (B) Adam Smith 2741 (4
A Y e
W02 (a)
Capital formation ,.L/J.:@- (C)
Comparative cost theory was presented by: Y(l-ﬁ-'}' ('JJL“'TJT wl-12
Ohlin &b (D) _Hecksher d..)[ (C) Ricardo L»3,/§, (B) Marshall "—-")(/L (A)_ﬁ_
Monopoly is opposite to: q-»‘dﬁmbf -13
Imperfect competition J.J.-G'AJ‘/(;; (B) Prefcct competition L,Ul.vJ; (A)

Both Prefect competition and Imperfect competition Ju:'».LMJ'f{uU; (C)
d/buleP (D)
The second name of law of decreasing return is: q..rt /»b’d" iq_}’w I
- Law of constant costs ._:delfuib (B) Lawofi mcrcasmg costs ._»w/‘um (A)
s (D) Law of decreasing costs __;,w‘)ﬁ’ Ui (®)
Margmnl productivity theory was presented by: wa ‘5""4(‘ )’
Adam smith and Malthus — LJ:'E‘?‘M (A)

Marshall and 1.B. Clark & S3-2—nfL (B)

Pigou and Cannon L.u"/ e (D) Robbins and Keynes P /‘::l A (C)

TR B[ & 9] A S C.8] C Al-€ SB[ .0 2] A,

Oligopoly

14

Law of costs

B -15 C -14] A -13 B -12 B -11 B -10] D 9
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Write short answers to any Six (6) questions.
Write four merits of Marshall's definition of economics. _Jub};bJJﬁJLbL (i)
Fla Ul R

S USRI 4 Al 3 Gewl 2
1. Better than previous definitions 2. Comprehensive and clear
3. Social science _ 4. Study of individual and collective efforts.
What is meant by economic problem? ?d..:/l,f;,,b'dlr (i)

e z/U:“ZbJJCuJJ»AV (J/’JIL/U/’/ R4
-V‘d”f f?/:'{b)l [c..gf..,l/'i’ul - -U*¢JUK.UL..-—U,L.6U, -

St 4 | _b;d:“u,o'll:_,l,wffdul -3
L3 e ettty oG e I b 1 G () Ln"u:.:b AdeL sy

-Ex J ""-L’Lfb‘:’r.u:’“‘../"f‘?
Professor Robbins has bases his definition on the following four facts of life:
1. Sources have not alternation uses,
2. Some of'these desires are more important and some less | Important,
3. Human desires are unlimited 4. Resources are limited
ite

According to pr()ﬁ,SSor Robbins, If these four characteristics (facts) come togett he same time,
then an economic problem anscs when any one ofthc feature S
will not arise.

T

15|

does not exist, the economic problem

4
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what is meant by macro economics? . f;—’i’b};—';VJ . (_;

R -, - . .. | [11]

Va-é—t'l:’kf-:':’b-(f:-‘:"’i:_'?.u'.?tgdyfgjj!Wé.ﬁ._,yfdb«_,q-ujﬁc_‘/.(fz-(Macro)J ]
:f—t‘l:,-)"h}b"ﬁ"t’rl‘L{u;‘;"‘-"}d’f‘d’(ﬂ'tfd"f'J”J/J'i“&,":d;‘aifd;l;

{he MACFO MEANS large. When the cconomic is evaluated as a whole for cconomic analysis it is

lled macro cconomics. it studics National income, National saving, Aggregate consumption
wealth, Aggregate investment, Aggregate demand, General price structure etc.

pefine negative utility. _EvSond @)
Vu;u"Jvﬁ'd ~e bt Pl 7SS A8 S AL Sl o Pl 5 2
-t 220!

when the utility of a commodity becomes zero and then the utility of that commodity is consumed,
he utility becomes negative. In the case of negative utility, total utility decreases.

-J@U}ﬂgﬁﬁ:ilfbig (v)

‘Wwrite four assumptions of law of diminishing marginal utility.

kb UeKE 2 —unutLe s asE 1 a2
-L#J-'»:"-‘-( "JL{JJPJF"’MU» 4 -ﬁg)‘-’)'ﬁf.‘_—/VJKIJC‘_ -3

1. All units of a commodity must be identical in all respects. 2. Use of the item should be constantly
and consistently. 3. The unit of item should be in proper quantity. 4. Do not change the mental state

of the user during use. :

Write formula of arc elasticity. TR T ‘ -4!%:’/5(40‘ ] (vi)

Formula: E, = qo _ql + po —Pl Wy A
qg+q Pp*P

\\;hat is meant by fall in demand? Yﬁ;JI/gc_L/LJ (\-’ii)
AP bf_,lba_l?LwJJJJL';..;wJPLJ_iJ:»Eﬁ (N7

If there is a decrease in the demand of a commodity for any other reason without a change in price,

it is called a fall in demand. . -
Define law of s2pply. : ..5{ ._é!/‘J,wu}F (viii) -
_4_39,:&/,;2_,,:(.:2 Svsle Qo a1 tpa izt S& Lz e B ol

If other circumstances remain the same and the price of a commodity increases, its supply increascs

and when its price decreases, the supply decreases. .~
Differentiate between perishable and durable goods. -5‘,:'-: f: l:u/;ﬁ:?b'g&;ﬂ_:%t/y (ix)
: ; :....4'_'2'

Durable goods 'l_;'lﬁg& Perishable goods p?l;l,()y'

2 . . g "4 a
U Ji,.J_bx.,,lhﬁ.’gdl,i.cg;«};lem}lofi ey (P Uz 6B L b a2 oI
o ooy b B S BT TALDSTA SN Ay I
Items which are aot easily perishable orjltems that are perishable or items that cannot
perishable are called durable items like table, be stored e.g. milk, fruits, meat etc. are called
chair, radio, fan etc. perishable goods.

12 : ,Jagmﬁ?ﬁgw,’(ﬁ)ég_‘jf -?3

Write s 5 any Six (6) questions.

Dc;lrii ls:::)z:' ?nllbr:-t::.:g‘:cturl:n ) . ) _é{,)_;: /{ﬂ;}‘b 59 @

’(L'Jb’vd'?z..bG’::ml&f"’zéb’u’uﬁ.;L.b::ugfb"lJu‘-Lu/.":ft/.CJ'uﬁJuot‘LﬁJJ. 9

| i STt b s

able increases the marginal production at each increment, then

this trend is called law of increasing returt. Another name for this law is diminishing cost.

product? ?{_;l/[_f;_ﬂ,'&?'&' (i)

2100/ 6ul_,’b’l‘_f,J_-,':‘flfL‘¢g i P le b Uit Lol Se ol gl oz
'-JNKS /I;I&_-‘/l;lﬁJL;b/U: ’“‘.'.’r;a".’”ﬁ IOSJ"'&JJJK"—L6‘35”;”—-_("!&3"#’%?::/9

. «(; the € i » additional unit o i .
The increasing in total production by the employing one & 1di nit of labour is called marginal
—

When increasing the units of the vart

What is meant by marginal
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production. For example, if 100 meters of cloth are produced by cmr.)lt?ymg ten units of labol,r:lt
by employing one additional unit of labours, the total output per unit is 105 meters, productj,,
the eleventh unit is the marginal production it will be 105 - 100=5.

Describe the concept of land. ) "éguk‘r ’e (C3
,:Lﬂ,,é’c_._i/"&:aﬁufﬁg.Jl}a‘,,,m_ﬂw,ﬁ,us;JL by 4 i:-f:{u)'gﬁfcﬁi 5:-’/:'/('_6:} -:

. - o * - vy b 3 ¥
A 2 et TS s g B fes
Earth does not mean only the physical land on which we walk on live, but lt. mcludcs. cverything thy,
is freely given to us nature, such as mountains, forests, rivers, seas, light, climate, rain, minerals like

tron, coal and petrol etc. e J /gu:d ,J,F"’:,,[d 3! (iv

What is the difference between average rcvcnuc_and marginal rcvenuc?_

J(d:‘u)’gj_éi_)’r:l":_lcl- Oor b SK1 H st s S atstng g’;lfr/lf:?-f—f:m'/r-dm»,: ‘ol?

L G A 7 e rstye $rF fomg bV e VLIS it Sy
..q...dnd"lpc_'cfcé;/‘

Average revenue refers to the amount that a firm earns from selling the average units of its outpyt ¢,

total revenue divided by units of production sold, whereas marginal revenue refers to the amoyy
that firm earns from selling an excess unit of its output.

Write four characteristics of perfect competition. -é‘-r:'.//':'.t"é"‘{ ig’ u“}; )
SRPPATN PN IS ARV S W11 Y ST (RO
& it l!-:—’:/' 2 -..2):;?:(:»3 = Jf d:yjlz,_bbfof':/‘pu_i;éiﬁlﬁﬂﬁ/?r J Ju K:»':/'Alu»léj -1

~UnIIY S e e WLl S snss fushily -4 st ST A SO A S S 3 e\ LUt
A market is said to have perfect competition if the following conditions exist:

1. There is a large number of buyers and sellers and no buyer and no seller can affect the price by
their individual actions. 2. There should be uniformity in the units of goods sold. 3. Entry and exit of
firms in the market should be free. 4. Buyer and seller are fully aware of the conditions of the market

v

N of

(iiiy
w2

Define labour. -g‘;: by/""(;a"’ (vi)
..:).‘L:;;@tbzﬁl?LKGfJ)l;J&.Jb‘(fg’:‘:‘_JJde‘?LdﬁJc)U'J'/;..".-'ff_JJQ(__JlsyM:}' )
—e bl QL b KoL

- Labour is the second factor of production. Labour refers to the mental or physical effort of a human

being which is done for a reward. The teacher's teaching is mental labour whereas the ploughing of

the farmer is called physical labour. .

What is meant by normal.proﬁt? T“LJ'/L‘(LUVLS"“ (vii)
-ﬁ(}Ké-LLU::/."/{é—o'é»/:‘?kﬂc,’"fr/'f}:‘abxdl?wl/a.&l‘/d"" R

Normal profit refers to the profit that is sufficient to induce a firm to stay in the industry.

What is meant by real wages?

- Se o e 2iE (i)
_§_VMQZIU£:HE:L4£¢LﬁJJ!,Vr)uz'__u,'_gﬁ),wgmfcaﬂg_i (R
The real wages means the reward paid by an employer in return for his services is called real wages.

What is meant by variable cost? TLJ'/LC;..J;L-V./:-’ (i)
3 -
K&VLJLJU’{-;JJ'UEZJ’?@‘I.JVL'd.‘/,é;l,f,_;_,;;,lq_:'Lﬂ C20L 5ol 7 St il

z_ﬂ},dt’_;}wé_;;ﬂ)gu;-&m&JJI(}{’:{IZ;%{J)@&JQJKK()/‘T_U_TLL&(JJU‘:/."&UZZJ.’
_o/f:(}K&r&f({dLchngJQMufﬁbﬂﬁw

Such factors which are related to the amount of production and increases with the increase of
production and decrease with the decreases of production are called variable cost. If the business °f
the firm has stopped temporarily i.¢ its output is zero then such fa

! ctors are also zero. For exemple
- wages of temporary workers, cost of raw materials, clectricity bills o

etc.

Write short answers to any Six (6) questions. 2% "‘(6)5'"6 .
Define national income. ) c';:J /1 Jd,&l’d} i

;Lﬁ“?’dbﬁfu‘jzLJWIIJ’F/)GJ;’L Ubresa JLL/'%I,I)IL._E

oL Sy
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-q_difd}JJJ!u,i@Lﬁf,,w‘/uJ
yecording to professor Marshall, the people of 'a courtry use their natural resources to produce
,Oodc and services every year, this is the national income ofthls country.

Give two examples oftrmnl'cr pn) ments. -sfcfu‘jh’{!u:t'ﬂdlifl (i)
Ny e l,cu//u— u‘dyJ’bL f;ﬂffu’?wdr_,umuuﬁwdw A

rransfer of payments are amounts which a person receives without working hard like zakat, charity
[;nd pension ete,

\Write two Kinds of metal currency. ‘ E{{/’r lJLuJu Qb i) .
j;ﬂlcrc arce two types of metal currency: ’ ' u‘(L-’luJudln )
; Standard currency v -2 Symbolic currency L5k -1
‘Write the Kinds of cheque. ' _ -gf:—uyruigf_& - (iv)
Cross Cheque ug;u;gﬂ/ -3 Order Chcq‘uc -—_G.,U" -2 Bearer cheque ...G,J b -1 2
f\\'ritc the names of phases of trade cycle. ' -g’,‘g{/}tﬁu;/l»ld:u:g J/g" (v)
‘A business cycle has the following four phases: W Lnﬂ»bgdj 56;:£/€ [Ltf.ﬁ U 4
Recession $0% -4 Boom u'/l;Lr/ -3 Rccovery Jlz -2 Depression $sikss -1
Define recession. -cf: - /U’du./ (vi)
-,s.t/m 21318 for L AL e Se ST U e dufd,r,m_,auwmm W
i dbr./ def

During this phase generally unemployment spreads and the general price level falls. Profi t, wages,
interest rate, consumption expenditure and investment are extremely goes down.

What is meant by international trade? y Tc..J/U::.:ab’dl;Ulcﬁ (vii)
S E e NS I el UL 2

The trade between the residents of two different countries is called international trade.

Differentiate between imports and exports. -55’1&)@;’.&7{»’;&7}; (viii)

anﬁmfaté:?l)’/c.. :,w'/.-,éu_:ég,éuﬁ'c Jbﬁ_/n:?c"_ f-’ubjud/.:;l.ﬁ;?bl/:._wuﬁ: BT 4
-@Ggﬁfjvg/”z%

Import refers to the value and volume of goods and services that are imported from other countries where
as export refers to the value and volume of goods and services that are exported to other countires.

Define tax. -c’,e':JfJJa (ix)

-c"_dlzfl."{{..:’_éiﬂ;’éuf;'(kuﬁ%&?JJ:’&@LAUB@/F.@;@E':’JJL'L,C"..{J? Y
A tax is a compulsory payment made to the government for the services it provides for the benefit of
the common people.

(ru.ﬁ’)
| JVLIILJJ/‘:—J&UVJ}&J) 2y

Note: Attempt any THREE of the following questions.

8 - cEE ke = L bl e Bl 74,/-',, 15
Describe in detail the merits and demerits of Prof. Robbin's definition of economics.
8 el B e oy M e o6
le.un the law of decreasing returns with the help of schedule and dmuram.

Write down the functions of capital. 8 c?,‘:/

Write down the canons of taxation, 8 _é//LJ/lLL,tﬁ‘/g
8 -z._" C u._,tu-wu N9 = S R
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